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SA: NEENZ
Hu: ZTCHB HE Y 29
& SN2 WA (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ANEE M2 4,115,152 2,392,543 1,722,609
2 39,107
Xl 400,000
= 180,000
Al 3,496,045
S3AS BE & 2F 2,534,415 1,398,299 1,136,116
= 1,350
Xl 400,000
< 180,000
Al 1,953,065
SA2a2Eo Has 1,099,413 941,594 157,819
Az & ZA2e 235,810 254,168 A 18,358
201 2et24d] 76,210 84,568 A 8,358
01 At 22l 76,210 84,568 A 8,358
O1 gt=2Hl 74,250
D(eIM)zZtdE =8 12,000 %1205 128 17,280
DM RRSsE 16,500 165 128 3,168
(&R ESR=EE 20,0008 +55 1000 & 1,000
D(EIMRRSE 55,0003 *5&+1001 & 2,750
DENMZALARE (tEIIH 2 95)
7,800,000& x14! 7,800
DEMAZ RFIDE 500& x20,000& 10,000
>RFIDE B35 AEIA 253 +20,000% 500
>EAMOt3 990& x18,000& 17,820
DEM AAX(HZHX) HE
2,100,000& »43| 8,400
DAOIMELEHI EH &8 22F
922,000& x6& 5,532
O3 2d=¢ 1,960
PEMA2IRAIE HFHAx+H
70,000 x721 %43 1,960
202 044l 9,600 9,600 0
01 SLHOYI 9,600 9,600 0
Ooltg & FAM2el dRF&  800,000& 128 9,600
405 XHobF S HI 150,000 160,000 A 10,000
02 =M=l 150,000 160,000 A 10,000
oget 4 otseAd 7Y 120,000, 000& 14! 120,000
OHIEM 2 30,000,000& =14 30,000
CXEnza 2% 127,172 63,463 63,709
201 Let24d] 127,172 63,463 63,709
01 At 22l 2,365 2,300 65
O1 gt=2Hl 2,365




SA: NEENZ
Hu: ZTCHB HE Y 29
e TAZA2IO WA S (2 &HH)
- RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
DOIEXNE TEH ANAsS87 ATEQN A2t
orszs 18,500 *90CH 1,665
DEAMADE 2 700,000 14! 700
02 2224 124,807 61,163 63,644
O1 222 2 HA 28,720
DOIHY MZEM(EANRS)
1,800,000 x12& 21,600
D>SMS SAMRLZ(HM, 0l BreoAEY)
300,000 x12& 3,600
D> EMHOIA S &EQAHA HZE 0|E2
3,520,000 =14l 3,520
O3 A& &Hl RXHI 96,087
DENMIACIANAE (ZSY =X EHE) EE KX
B 625, 197 ,0009 8/ 100 50,016
DEAZSZT 2] (KOLASI) | X2
21,402,000 «15/100 3,211
>olEXs PC A2 100,000& =40CH 4,000
DUER3Z &H SIAE 2,000,000& x 14! 2,000
DAAZH (AME 2 88) RAESL
169,708,000& *8/100 13,577
> EoLEH| (Etste 2 15) SXES
40,040,0002 x12/100 4,805
DolEXE 2HOHYAIAYE SXE
50,560,000 «12/100 6,068
DBES ATZEAN KRAES
16,000,000 *15/100 2,400
DEMZ HERZD EdiE Z22AIAE S
&= 40,750,000 *8/100 3,260
DPEMZ SHOIKX SAE%
54,000,0002 x15/100%x10/12& 6,750
HAAIE S X 22l 674,574 583,239 91,335
201 B9 649,874 572,339 77,535
01 AP 22| H| 63,320 57,780 5,540
O1 detf=2H| 56,120
DOIZEX HOZE MI2(EX,&2ASH 5)
1,500,000 x12& 18,000
>EEA HASE L HEY DY
1,000,000 x12& 12,000
>AIIE MI|&H MRS (=& AHl 1,20
Okw/H| AtgF & J| 250kw) 4,000,000 « 1Al 4,000
DI =AY A AAH(S2D] 3UH)
150,000 »3CH 12 5,400
D ABFAYH otd e HaiE 420,000 «12& 5,040
D> S AIJEA A 2 AL 100, 000& *13] 100
DOS0IsSAE Z2I1&E SHEA
1,000, 000& *13] 1,000




SA: NEEAH
M BICHNZ &5 L 29
SR SAHZ2HO hals (SH2:EH)
2A-F3H-H2A(3) - MY - BES Of] Ak %Ei Hns2Z
DEALAALS 350,000 63 2,100
DXEX HA 800,000 *23] 1,600
DABI ASAHE 3,000,0008 * 14! 3,000
DUAE ASAHE 40,0009 +84 =2CH 640
DESU Ha 162,000 x203] 3,240
06 Uxt2 7,200
>AZ4I| 22l 600,000 128 7,200
02 3294l 586,554 514,559 71,995
O1 2223 2 MA 165,710
PEHRERZ 60,0002 x12& 720
DOSENIS(BEE ZME SR NL2
2) 660,000 *14! 660
DASHAXNS(BEE ZME SR NL2Y
2) 850,000 *14! 850
DIOFAA DA HMAZER 200,000 *13] 200
DEINQS 11,000,0008 <122 132,000
DASIEERE 2,500,000 122 30,000
DENZ2ESH (B2 MZEIH 2 28)
360,000 x3Z 1,080
D> A 2o & 3 100,000 *13] 100
=l==r Sl E=elk="E-ia 100,0008 *13] 100
O2 A Z2Hl 65,210
DEA L 80591 x41. 7S «20l x8Al 2Hx72L 38,671
DEA A 401 %41 . 7E 20 *8Al 242 11,237
D222 8052 x16.5E «2U x8Al 2Fx72L 15,302
O3 AIZ &l |l 341,641
DAEZANZ AIE2 SN (A, S4l,
ag 85) 10,000,000 *124] 10,000
DS A | May| 2,000,000 *14] 2,000
DRHEI 22/ 1,000, 0008 * 14! 1,000
DRIIEEI ZEHDH ¥ EHP ZEHEA
5,600,0008 *13] 5,600
DoloT2d ZEl WA 200,000 =7 CH 1,400
DUHeLI| M2 2,500,0002! »2H 5,000
DEAN HAR3AY 3,298,340 x801 « 122 316,641
O4 XA e 13,993
POISEAMZ UHERXL(SEUE)
10,000,000 «1CH 10,000
DASUHX XNISRXH(SEEEH)
3,993,0002! =1 CH 3,993
202 04 H 7,200 8,400 A1,200
01 22U o H 7,200 8,400 A1,200
OFANSXZ2 d2FA 600,000 *12& 7,200
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SN BA(SA) - MRAY - BES il HImEET
206 M= Hl 2,500 2,500 0
01 M= 4l 2,500 2,500 0
OAd= &8I, 84,48 I W

2,500,000 » 14! 2,500

401 Al HI K 201 I 15,000 0 15,000

01 A& Hl 15,000 0 15,000

OANBEM2 =& |FX 22 SM

15,000, 000& 14! 15,000

THZ OIBTAMHIA M2 61,857 40,724 21,133

101 @124l 27,787 26,124 1,663

04 JIZHHNZ2Z2XNSE =+ 27,787 26,124 1,663
OolsANa 2 27,787
>olE=s 51,800 101 x247 12,795
D a0tz 12,794,600 x121%4/12 4,265
PEEYE 51,8003 x101«53 2,746
> AX =G 51,8003 11«12 622
> EAZ A 130,000& =121 «12& 1,560
PR | 120,000& =121 x 1228 1,440
>EXZ 23,427,000& /12& 1,953
>0z 23,427,000& *4.5/100 1,085
DAHLEE 23,427,000 *3.06/100 7
DEINRAYEH 717,000& *6.55/100 47
PNEEE 23,427,000& *1.5/100 352
DATHE & 23,427,000& *1/100 235

201 et2 Y| 34,070 14,600 19,470

01 At 22l 34,070 14,600 19,470
O1 et=2Hl 34,070
PUHEIRS 700 *20,0000H 14,000
PUE3FS ZgY 2= 80,000& +500H 4,000
PEMEE 2,500& =3, 0000H 7,500
DEMESEIII ZEH cl= 45,0003 =604 270
PEM SIX =2 EX 22,000& »1000H 2,200
DEHE 2,500& x1,000H 2,500
DEMIE SHHiHI 6,000 5021123 3,600

FuNsZIZJH2H 31,480 25,150 6,330
1,350
30,130

=M23t 19,480 17,300 2,180

201 2Bt | 19,480 17,300 2,180

01 At 22l 19,480 9,300 10,180
O1 Let==ZH| 2,350
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AN NEEZA2
B ZBCHD HE L 29
ool 22 29 CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
CHS LA 2 A0E 500,000 *43| 2,000
PENMBEL U SHOlY 29 42E
1,000,000& *x23] 2,000
O3 2g=Y 17,700
DEEEESLLN 29 14,800
OSREsL AALH(I1Z)
370,000& =403l 14,800
DEAMZFZE L SAHL E A 2,900
Oddsg & 54 500,000 *x53] 2,500
OME YL SASIEZZ0H(42)
80,000& 53] 400
O6 Xtz 1,440
>AE4I 22l 120,000& ~12& 1,440
02 38244l 31,640 31,389 251
O1 222=2 % HA 25,440
DEIR=S 1,100,000& «12& 13,200
>ABIEER2 150,000& = 12& 1,800
DOIHYNES M (SEARZ) 870,000& 128 10,440
O3 A& &Hl s Xl 6,200
DEMEST NI AMES SNEL(AZ,I1H
RSDIEE= 5,000,000 x 1Al 5,000
>olgX PC RX2% 100,000& =12CH 1,200
405 Ko SHI 20,000 20,000 0
02 EAFH| 20,000 20,000 0
et L ols S 7Y 20,000,000 14! 20,000
BHEE A2 2H 115,519 119,300 N 3,781
101 2124 4| 34,213 39,300 N5,087
04 JIZtHIZ22XNSE S 34,213 39,300 AN5,087
OHEE2E-N2 HA2Y XA 27,787
>IIE23 51,800& =101 %247 12,795
> A 2 12,794,600 x 101 %4 /12 4,265
>EEE 51,800& =121 %53 2,746
DAHAXLEE 51,800& x1Q1x 12 622
>y HZAH| 130,000& *121x12& 1,560
DuNE8 XY 120,000& 121 x12& 1,440
>EAZ 23,427,000 /128 1,953
>=0d3 23,427,000 %4.5/100 1,055
D = 23,427 ,000& *3.06/100 717
DEIINQSLEH 717,000& %6.55/100 47
>INE8E 23,427,000 %1.5/100 352
DAMTEE 23,427,000 *1/100 235
OHEE2ZAZ =2 2 I (SAIZH) 6,426
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N ANEEZA2
Hu: ZTCHB HE Y 29
ool 2% 29 (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O3 A€ &Hl |XlHl 6,280
DHESMZ AIEE RAE+
1,000, 0002 14| 1,000
>0l & Xt PCH Xl & ==t 90,000& +x12& 1,080
PHMEE s37H AAE RAZH|
350,000& 122 4,200
405 KtobH S| 20,000 20,000 0
02 =M=l 20,000 20,000 0
OEAd 7Y 20,000,000 » 14l 20,000
e st X2 150,400 148,500 1,900
242 X 45,500 50,500 A5,000
307 glz2tol & 45,500 50,500 A5,000
02 IZHE M AHE X 45,500 50,500 A5,000
OXNSTHZ SAHRLH X
45,000,000& =14 45,000
oSN 281 1= 500,000& x13] 500
SETAZ ZSEA X 4,000 4,000 0
307 glz2tol & 4,000 4,000 0
04 QIZFHALAIH B = 4,000 4,000 0
OX2=NM2 23tedAt X& 4,000,000 141 4,000
23EM2 X 64,000 64,000 0
308 XtXIEHH SOl A 64,000 64,000 0
08 WFJ20UstE=x 64,000 64,000 0
O3 M2 Uz LU (nsZHl) 64,000
DRFUNFE st 54,000,000 » 14! 54,000
DEUATAMS 10,000, 000& 14! 10,000
St Al BHER D] ALY 27,000 30,000 A 3,000
307 21201 A 27,000 30,000 A 3,000
02 IS AHE L 27,000 0 27,000
Ost Al 8 M 0] AHHXI& 27,000
PEHEEANM 2L 10,000& » 1,000 10,000
PEZME 29 3,500,000& »23| 7,000
DEMNEE 23 T8 2,000,000 *43] 8,000
>2018 & &F HH 2,000,000& =14 2,000
SEHA2EMZ 43 9,900 0 9,900
201 Let249] 9,900 0 9,900
01 At 22l 9,900 0 9,900
O1 Let==ZH| 9,900
DEEEM2AE TH2A20EZ20Y 2 XA
3,300,000 »34! 9,900




SA: NEENZ
Hu: ZTCHB HE Y 29
oot ZREAMT AY (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SN2 HE 1,002,500 0 1,002,500
X 400,000
< 180,000
Al 422,500
S3EM2 HE 1,002,500 0 1,002,500
Xl 400,000
< 180,000
Al 422,500
401 Al HI X 2018 1,002,500 0 1,002,500
Xl 400,000
< 180,000
Al 422,500
01 A& HI 900,000 0 900,000
Oost=2E M2 A 900,000,000 » 14 900,000
Xl 360,000
< 162,000
Al 378,000
02 2eltl 100,000 0 100,000
o2z M2t 28 2eldl 100,000, 000& * 14 100,000
X 40,000
< 18,000
Al 42,000
03 AlE 2 THHI 2,500 0 2,500
OAIE = HHI 2,500,000 » 14! 2,500
He&s 1,349,000 770,000 579,000
RSN 1,349,000 770,000 579,000
Kl 2 XH &F & 1,349,000 770,000 579,000
311 X+ S0l At &f & 369,000 390,000 A 21,000
01 Al -2 - FXNEMNLI XL S0I RS 240,000 240,000 0
ONBELTHZ &S 0N As
240,000,000 =14 240,000
02 S3t=a 82X 30| AH&H& 129,000 150,000 A21,000
OANESLEM2 XY Ol X+ & &
129,000, 000& * 14! 129,000
601 XL S =4 980,000 380,000 600,000
01 Al-Z - FXNENLI)I=HL=d=a2 600,000 0 600,000
ONBEYTHT A5 23 48
600,000,000 =14l 600,000
02 Sat=slladnLd=d=ys 380,000 380,000 0
ONBELEAHZ 2NHY |2 48
380,000,000 =14l 380,000
HE2AZHI(AMEAZ) 231,737 224,244 7,493
= 37,757
Al 193,980




EAM: NEEZAM2
Hu: AN (NEEHD)
Sel: o2y (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
ol 2HH| 196,577 189, 340 7,237
= 37,757
Al 158,820
ola2AY| 71,789 65,698 6,091
101 e1214| 71,789 65,698 6,091
01 2 67,929 65,698 2,231
OAZtZ224% 9,649 %2021 *300A| 2+ 57,894
OARLSIZR4S (0F2H B H)
9,649 x20Q1 52 A| 2+ 10,035
02 JIEE 2 % 3,860 0 3,860
OANZ2tZR24E 9,649 x201 x200A| 2+ 3,860
22T A2 A2 A A 83,904 123,642 AN 39,738
= 37,757
Al 46,147
101 e1214| 83,904 123,642 AN 39,738
= 37,757
Al 46,147
03 2INHAZ2ZXNHE = 83,904 123,642 N 39,738
OZ2 2T N2 HZAIZE dEUESE JIF) 83,904
>olE2g 1,262,340 4021 x12& 60,593
= 27,267
Al 33,326
DAIZAZ 2L 9,270 #4021 x10A| 2+ x 12 4,450
= 2,002
Al 2,448
Dl 74 ,460& x4021 x12& 3,575
2 1,608
Al 1,967
DAXE 36, 190& 401 12 1,738
2 782
Al 956
PRYE 3
26,354,060 *4021%4 .5/100 4,744
2 2,135
Al 2,609
DAHUABE S 26,354,060 *4021x3.060/100 3,226
2 1,452
Al 1,774
DEIINRQSLEHZ 806,440 x401 +6.55/100 212
= 95
Al 117
DNEYEE 26,354,060 x421x1.5/100 1,582
= 712
Al 870
DATHEE 2 26,354,060 *421%1.0/100 1,055
2 474




AN NEEZA2
MY BHSAAH(NPEAB)
chel: ol gyl CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
Al 581
> X L&l 2,729,000 x 14! 2,729
= 1,230
Al 1,499
2 M2 JH2EAIZE HAZ(REAN) 40,884 40,884
101 @121l 40,884 40,884
03 I HLZ22 NHE 40,884 40,884
OB A2 JH2AIZE & (452 JI=) 40,884
> a2 1,262,340 x4 01 x4 & 20,198
>y HEZAH| 130, 0003 421 x12& 6,240
D NEEXH| 120,000& x40 x12& 5,760
DEXMNAZ MY S 2,136,470& 40! 8,546
> H L& 139,680& * 14 140
| 22Z bl 35,160 256
JlE23Hl 35,160 256
201 L2 9| 22,920 216
01 At 22l Yl 22,080 0
O1 dEtx=2H| 12,000
>DEASY =24l 1,000,000& x12& 12,000
O5 = &l 10,080
>of2t. 522 7,000& x4021x30 x12& 10,080
02 332494l 840 216
O1 222=2 % HA 840
DOISEAS SUHEAMNEZ 30,000& x12& 360
DRddss 40,000& x12& 480
202 (4] 7,200 0
01 2L Y| 7,200 0
OJI=2gd 230 bl 600,000 = 12& 7,200
203 ¥R =&Y 5,040 40
02 RO R = XIH| 840 40
OFAAINAMARFEY| 40,000& x21¢2l 840
04 EANSHLRF=AH| 4,200 0
ORA2EYERFAH| 350,000& x12& 4,200




